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Div-Neg-L1 Set1

Question 9  [25 marks] Question 10 |25 marks]
0: 54+ (—3) =-18 0: 5+ (=5H)=-1
60+ (-12)=__ L5+ (=b)=_
290+ (—6)=__ 245+ (=5)=__
5 132+ (—12)=___ 350+ (—10)=
4 128+ (-8)=__ 4140+ (-10)=
528+ (—4)=__ 5: 110+ (=5) =
6 b+ (—=H)=____ 6 108+ (—9)=____
7 26+(=2)=___ 70+ (-10)=____
8 40+ (=5) = 8 36+ (—4) =
0 T2+ (—=3) = 0 125+ (=)=
024+ (-12)= 10: 36+ (—6)=
e 7+ (-3)= 1 96+ (—8) =
12: 24+ (—6)= 12: 100+ (—=5) =
138+ (-T=—" 13: 90+ (-6)=
1w 0+(-7= 4 27+ (-9)=__
15: 15+ (=)= 15 117+ (=9)=
16: 140+ (—4)= 6: 132+ (—4)=__
1730 (—6) = 7 108+ (—4) =
8 110+ (=10)= 8 90+ (—9)=__
194+ (-11)=_ 19: 12+ (-2)=__
200 84+ (=3) = 200 8+ (=8)=__
21 M8+ (—1)=__ 21: 9+ (-9) =
22: 30+ (—10)= 22 55+ (—11) =
93 110+ (—=11) = 23 20+ (=2)=
o 18+ (=3)= o 135+ (=9)=
25 88+ (—8)=__ 25 140 + (—10) =

018 7 September 2014 5



Div-Neg-L1 Set1

Question 11 |25 marks] Question 12 [25 marks]

0: 2+ (—2) =-1 0: 97 + (=1) = -97

124+ (—6)=__ 8+ (-8) =
2 66+ (—6)= 290+ (—6)=
5 88+ (—8) =___ 5 63+ (-T) =
263 (=T) = 460+ (—12)=
5 140+ (—4) = 5 40+ (—10) =
6 60 = (—10)= 6: 56+ (—8) =
7121+ (=11)= T (=T =
g T8+ (—6)=__ 8 126+ (—=2)=
00 126+ (-7) = 00 30+ (—10)=
0: 126+ (=7) = 0: 130+ (=5) =
1 10+ (=10)= 1132+ (—6) =
12: 135+ (—=3) = 12 17+ (=3)=
13 24+ (—6)= 3 55+ (—1)=____
14: 126 +(—6)=__ 4 16+(-1)=_
15 120+ (—10) = 15 106+ (—2) =
6: 18+ (-3) = 6: 45+ (-9)=_
1 126+ (-9)= 1 49+ (-7)=
18 52+ (-2)= 8 2+(-1)=_
0 8+ (=T) = 9 102+ (—6)=
20: 60+ (—12) = 20: 84+ (=T)=____
o1 12+ (—=12) = o 0+ (=11)=
22: 10+ (—=5) = 22: 126+ (—9) =
23: 90+ (—=10)= 23 121+ (—=11)=
o1: 60+ (=12)= oa: 120+ (=)=
25: 66+ (—11)=_ 25: 40+ (=b)=__

018 7 September 2014 6



Div-Neg-L1

Setl

Question 13

25 marks] Question 14 |25 marks]

0 0+ (—11) 0: 108 + (—9) = -12

38+ ()= L8+ (-T)=
2 110+ (=5) = 2 T+ (-7)=
52U (—6)=__ 5138+ (-2)=__
LU (—6)=___ LT (-T) =
563 (-9)=__ 509+ (—9)=__
630 (—5)=__ 6 126+ (~3)=___
0 (—12)=__ 88 (—1)=__
$ 136+ (-2)=__ s 1225 (-2)=__
o: 110 = (— - 0 135+ (-9)=___
w0:0+(-11)= 10: 56+ (—4)=
11: 60 + (— - 1m: 90+ (-10)=___
122 M43+ (-11) = 12260+ (-3)=
13: 120+ (-12) = 13: 18+ (—6)=
w138+ (—6)=___ w63 (=9 =__
15 2+ (-12) = 15: 8+ (-2)=
6: b+ (—11)=__ 16: b0+ (-10)=
1 66+ (—11)=__ i 132+ (-12) =
18 110+ (-10)= 18 6+ (—6)=__
19: 138+ (—6)=__ 19: 56+ (—4)=__
200 132+ (—12)=_ 200 118 +(-2)=__
o 126+ (-T) = o 91+ (-T) =
22: 6+ (—6) 22: 120+ (—12)=
23 110+ (—-11)= 23 116 +(—4)=
24: 27T+ (-9) = 24: Y+ (-7)=___
25 133+ (—=7)= 25: 49+ (=7)=__

013
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Div-Neg-L1

Setl

Question 15

25 marks] Question 16 |25 marks]

0: 84+ (—4) = - 0: 125+ (=5) = -25
56+ (-8)=_ 116+ (-2)=_
2136+ (—4) = 227+ (-9) =
5 40+ (—10)= g 84+ (-T)=___
440+ (-h)=__ 4 10+ (-5)=
5110+ (=5) = 590+ (—5) =
6: 9+ (—11)= 6: 10+ (-7) =
7 80+ (=10)= n 8 (—-12)=__
8 30+ (—10)= 8 90+ (—9) =
0 b+ (=5 =___ 00 99+ (—11)=
0 63+ (=3)=___ o = (=11) =
40+ (-8) = 1m: 35+ (=)=
12248+ (-3)= 1230+ (-3)=
13 128+ (=)= 13 56+ (—=2)=
4 133+ (-7)= 14: 123+ (-3)=__
15 130+ (—10) = 15 0+ (—10) =
6: 96+ (—4)=__ 16: 60+ (=H)=__
17 88 (—=2)=__ 0= (1) =
18 2+ (-12)= 18 0+ (-10)=__
1993+ (-3)= 19: 54+ (-3)=
20: 124+ (=2)=___ 20: 60+ (—12)=
o 0+ (—12)= o 133+ (=7)=
o2 A+ (—11)=___ 22: B+ (—9)=
23: 135+ (=3) = 23 A8+ (—8) =
24: 9+ (-9) = 24: 40+ (—=H) =
25: 63+ (—7)= 25 120+ (—12)=
013 7 September 2014 8
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Div-Neg-L1 Set1

Question 25 |25 marks] Question 26 |25 marks]

0 117 = (=9) = -13 0: 120 + 6 = 20

8+ ()= 1 0+11 =

2 118+1=__ 2 (—2)+2=

3 (—116) +~ 1 = 3 0+5=

& (—132) = (~11) = 520 =

5 (—96) + 12 = 5 (—11) = 11 =
6: (—84)+6= 6: (—99) +(—9) =
7. 112+ (=7) = 7. (—48) + 12 =

8 64 +4 = 8 126 -2 =

9: 122+ (—2) = 9: 126 =+ (—6) =
w0 (—142) +2=__ 10: (—96) = (=8) =
e (—138) = (—6) = 10+ 5=

122 133+ (-7)= 12 120 + 10 =
13:9+(-3) = 13: 83+ 1=

14: 28+ (—4)= 14: 115 +5 =

15 (—10) = (=5) = — 15: 128 + (—1) =
6 (—70)+10=___ 16: 117+9 =

i (—187) +(-1)= 17 (—122) + (=2) =
18 120+-10= 18: 66 +2 =

19: 128 +2=__ 19: 6+ (—6) =

20: 4b+5b=__ 20 (—24) +~8 =

21 (—32)+1=_ 21: 120+ 6 =

222 68 +4=___ 22 91 +1 =

23: 35+ (—-7)= 23: 132+ (—12) =
24: b4+ (=3)=___ 24: +0 =

25 (—69) +3=_ 25: (—=77)+11=

018 7 September 2014 13



Div-Neg-L1 Set1

Question 27 |25 marks] Question 28 |25 marks]

0: 0+ (=9)=0 0: (—124) =4 =-31

L (-110)+10=__ 1 60+ 10 =

2 (—140)+5=___ 0 11+ (=11)=
3 5+ (=5) = g (—112) =8=__
g (-4~ (-T)= 4 (-135)+1=__

5 (—60) - (—4)=__ 5 MT=11=_

6: 112 +8=__ 6: 8+11=__

7 284 = 7 (—81)+9=___

8 22+ (—11)=__ 8 30+ (=5) =

9: 4+ (-2) = 9 (=36)~(-4)=__
w0: (=52) +(—4)=__ 0: 135+ (=h) =
1 (—45) = (=h) = 1: 30+ (=3) =

12 (—120)+5=___ 12 36+12=____

13: 0+ (—11)=_____ 13 (—110) +10=
14: 42+ (—6)= 1 (—44) = (-2)=
15: +0 = 15: 144 +3=____

6: T8+ (=3) = 6 (—26)+1=___

17 0 = 17: 76 +4 =

18 90+ (=10)= 18: 120 + (—8) =

19: 84+ (—6)=__ 9: (=22) = (-11)=__
20: 90+ (—6)= 20: 140+ 7=___

21: 99+ (—11) = 21: (—102) +6=___
22: 90+ (=5) = 22 (—120) +4=__
23: 0+ (=10)= 23: 18+ (—6)=

24: (—100) +1=__ 24: 0+ (-9)=__

25 (=7)+(-7)=— 25 (—140) +2=__

018 7 September 2014 1



Div-Neg-L1 Set1

Question 29 |25 marks] Question 30 [25 marks]

0 (—92) =4 =23 0 0+ (=8) =0

L(-80)+ (—4) = L(-106) = (1) =

29+3=_ 2. 12 +4 =

3 (—72)+6= 3 58 + (—2) =

4 (—108) +(-9)= 4 (-21)+(-3)=

5 (=50)+2=__ 50 (—140) +~7=__

6: (—117)+9=__ 6: ~+0=__

7. 0+7= T 2WF2=___

s (—80) = (—4) = s 15+5=

o dM4+2=_ 030 (-1)=__

10: 54 +9 = 10: (—60) =5 =

11: 39+ (—1) = 1 (—49) +(-1)=

12 (=70)+(-7)= 12 (-138) +1=__

13: 120+-8=__ 13: 84+ (—6)=

1 (=72)+8=___ 4 (—99)+11=__

15: 0+ (—-11)=_ 15: 90 + (—1) =

16: 84+ 6 = 16: (=36) = (-9)=_

1 96+ (—8) = 17 +0 =

1824+ (—-12)=__ 18: 110 + (—10) =

19 488+12=__ 19: 04+ (-2)=__

200 13+1=__ 20045 +3=__

21 (—40)+4=__ 21: 112+ 2 =

22: 21 +7T=__ 22: (—14)+(-T)=

23: +0 = 23 (—12) +(—-12)=

24: (—66) +~(—2)=__ 24: (—42) +T7T=_

25: 120 +4=__ 25: 22+ (—11)=__
018 7 September 2014 15



Div

-Neg-L1

Setl

Question 31

0

1

2:

3:

10:

11:

12:

13:

14:

15:

16:

17:

18:

19:

20:

21: —

22:

23:

24:

25:

: 25+ (=5)=-5

116+ 1=_
(-132)+12=___
+(-12)=___
(-120)+10=___
8+ (—4) =
(-80) = (-4)=__

124+ (-2)=

(=28) +~(-7)=—
012 =

142+ (-2)=
(=54) +~(-3)=
140 +4=_
2+12=__
(—117) =9 =

(—132) = (=3) =
2 (—4)=__
6 (-1)=__
132+ (-11) =
10+ (-5)=___
93+ (-3)=____

25 marks] Question 32 |25 marks]

0: (—125) = (—=1) = 125
20+ (=5) =

2 60+ (—6) =
30+ (—-12)=

& (-7 +1l=_

5 (—66) ~ (-3) = —
6: 144+ (-8)=__
110+-11=_

8 55+ (—5) =

9 (—132) +~(—-11)=
10: (=96) +~(-3)=
1: (=56) +7=___
122983+ (-1)=
13:0+-9=__

4: 63+9=__

15 (—105) 7=
16: 140+ (=H)=__
i (=78) +(—-6)=
18 9 +11=_

19: (=36)+9=___

200 104 +8=__

o +0=_

22: (—33) + 11 =

23 (—135) +(-H) =

24: 90 = 10 =

2 (—60)+ (—3)=__

013
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